WYKAZ ZJAZDOW

istn. zjazd
)
3 rodzaj szerokeé Nawierzchnia dg - kostka
| E | ° | zazau rozbiorkd {2 | em| oo [ i | B
(skrzyz.) - § gr.15cm ie;:;z:m gr.15cm Istn.. g[r.:;]:m
Murki beton |kostk] @ [m > [m?] m?]
L P Z[r:é? czotowel B-A | cement| a = iy
[m’] [m2] | [m2]
1. 36,59 1 indywid. 8 6,2 14,00
2. 59 1 indywid. 5 14,00
3. 69,5 1 indywid. 5 14,00
4. 1029 1 indywid. 10 22, 14,00 8,0
5| 139,3 1 indywid. 4 0,5 16,00
6. 170 1l indywid. 4 0,5 | 10,¢ 14,00
7. | 187,10 1 indywid. 4 14,00
8. | 206,94 1 indywid. 6 14,4 14,00
9. 217,71 1 indywid. 5 0,5 8,8 14,0(
237 FURTKA 1 0,5 2,00
10. 254 1l indywid. 7 14,00
11.| 276,21 1 indywid. 4 12,2 14,00
12.| 287, 1 indywid. 4 14,00
13. 308,71 1 indywid. 5 12,0 14,00
14.1 3279 1 indywid. 14,00
15.| 346,20 1 FURTKA 0,5 2,00
16.| 3779 1 indywid. 6 15,0 14,00
17. 408,9 1 indywid. 4 14,00
18. 4335 1 indywid. 5 17,5 14,00
19. 4639 1 indywid. 6 19,3 14,00
20.| 471,71 1 FURTKA 1 4,2 2,00
21.| 490, 1 FURTKA 4,2 2,00
22.| 506,9 1 indywid. 32 27,0 27,00
23. 524 1l indywid. 5 14,00
24.| 5559 1 indywid. 14,00
25.| 579, 1 indywid. 9 14,00
26.| 599,4 1 indywid. 6 10,0 14,00
27.| 662,94 1 indywid. 14,00
28.| 7859 1 indywid. 35,0
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
28 0 0 146 3 20,6 140,7 22,00 j o o o S
s o 3 o) ) =




